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INSTRUCTIONS TO THE CANDIDATES

1. This Question Booklet is printed in Hindi and English languages. Candidates should select any one of the two
languages according to their convenience.

2. The Question Booklet contains 100 questions. The examinee should verify that the requisite number of questions
are printed in the Question Booklet, otherwise he/she should ask for another Question Booklet.

3. All questions are compulsory.

4. All questions carry equal marks.

5. The cover page indicates the number of pages in the Question Booklet. The examinee should verify that the
requisite number of pages are attached in the Question Booklet, otherwise he/she should ask for another Question
Booklet. =

6. Read carefully the instructions given on the Answer Sheet supplied and indicate your answers accordingly.

7. Kindly make necessary entries on the Answer Sheet only at the places indicated and nowhere else.

8. Examinee should do all rough work on the space meant for rough work in the pages given at the end of the Question
Booklet and nowhere else, not even on the Answer Sheet.

9. If there is any sort of mistake either of printing or of factual nature in any question, then out of the Hindi and
English versions of the question, the Hindi version will be treated as standard.
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Directions (Question No. 1- 5) : Read the following 2. What percent of surface of earth covered

excerpt and answer the questions asked at the end. with water, is available for human
The answers to the questions should be based on consumption ?

the excerpt. (A) 0.1%

Although water covers approximately sixty seven (B) 0.001%

percent of the Earth’s surface, of this less than (C) 0.67%

three percent is fresh water. Accounting for fresh (D) 0.067%

water locked in glaciers, ice-caps or otherwise
inaccessible, less than a tenth of a percent of the
Earth’s water is available for human consumption.
Pollution, population growth and wasteful irrigation
practices are contributing to a worldwide water

3. Which of the following could be probable

reason for hostility among nations in future ?

(A) The fact that America has ample
sources of water

shortage. Whe.n the cl.ear precious llq'uud becomes (B) Assertion of claims on fresh water
scarce, countries begin to assert claims on fresh supplies in future
water supplies. As a result, drinkable water has (C) China intends to claim on fresh water
become a region of conflict that could eventually sources as it has less sources than
lead to greater hostilities between nations. America , _

. ) (D) In-equilibrium of arms among various
Some countries such as the United States, have nations

ample sources of water. In other nations, such as
China, water is less plentiful. As water resources
dwindle, competition for available sources will
' rise. Nations may claim rights to a particular body
~ of fresh water or they may plan to build dams and
' other projects on rivers. If two or more nations
. which disagree on water rights or building projects,
* conflicts can emerge. In order to combat this issue
many countries are adopting water conservation
and security solutions. The United Nations has
~ implemented programs to combat potential issues D
that could lead to violence. (D)

4. Which of the following may definitely not
be concluded from the passage ?

(A) Upto about three percent of water
may be for human consumption by
accounting all possibility

(B) About 97% of water is unusable for
human consumption

(C) Water crisis may trigger an arms race

among nations in future
Water crisis may possibly end up in
creating a hostile relationship among

countries
1. What is the main focus of this passage ?

(A) :: is imporltarlt to conserve water 5. Whatwould be the most effective solution to
because only 3% of the water on earth avoid future conflicts among the nations ?
is drinkable

(B) China will fight with America for (A) To destroy all weapons
controlling fresh water sources (B) To sign pacts on water rights

(C) Most fresh water is locked in glaciers
and ice-caps (C) To conserve water

(D) Wateris limited and shortages will likely (D) Tomake United Nations a more effective
lead to conflicts body in handling these issues

s/F/P/11/2020/ 1I-D 3 [PTO.




(A) 16
(8) 18
(C) 20
(D) 24
i 'W$féﬁﬂfiaqés3ﬁ§m12FfaﬁﬂaésakR/aﬁ§
FoEEL AT R | e T () B Tafed v
2 W ¥ fore o frereq A TEEHE R
27 56 27
361 119 81| 119 36| ? |3
9 7 9
(A) 1
(B) 3
() 9
(D) 12
| Fre ot A e e e e @ wme

3|z R R R A R |
P Q R S T

KRR E

(A)
(B)
(C)

Q
R
S
(D) T

S/F/P/11/2020/ NI-D

10.
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12,

(a) (b) (c) (d)

(A)
(B)
(€)
(D)
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(A) 89
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6. How many total triangles are there in the

following figure ?

(A) 16
(B) 18
(C) 20
(D) 24

7. Certain numbers are given inside/outside
the square box according to a particular
rule. Identify the correct option to fill in the
space marked with question mark (?).

27 56
36 1|9 81| 1
9 7
(A) 1
(8) 3
(C) 9
(D) 12

8. In the following figure, four images are
similar in a certain way. Find the odd one

image of these.

P

Q

R

9 36

S

27

? |3

9

T

x

X

K

x

fog

(A) Q
(B) R
(€ S
(D) T
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9.

Find out the correct option for mirror
(vertical) image of the following figure.

*

10.

11.

12.

(a) (b) (c) (d)

(A)
(B)
(C)
(D)

0O o o T

In certain code language, if O\ = 5,
DO=9,@=125 and | O | = 16, then |

QM- ‘

(A) 89
(B) 100
(C) 144
(D) 2304

The correct synonym for ‘Slumber’ is
(A) Sleep
(B) Shiny
(C) Steer
(D) Seller

Of the words given below, three are synonyms.
Choose the odd one out.

(A) Lethargy

(B) Energy

(C) Activity

(D) Spirit
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13.

14.

15.

16.

Choose the prefix that should be added to

the word ‘Legible to form its antonym

(A) dis
(B) mis
(C) in
(D)

Fill in the blank with correct collective noun.
A school of

(A) Fish
(B) Tiger
(C) Boys

(D) Cubs

Choose correct meaning of the Idiom

‘Spin ayarn’.

(A) Do weaving work

(B) Be a cunning craftsman

(C) Staysilent

(D) Tell a long and far-fetched story

A animal is one that is active
primarily during the twilight period.

(A) Crepuscular
(B) Diurnal
(C) Nocturnal

(D) Auroral

s/F/P/11/2020/ u-D

7.

18.

19.

A person who taiks in sleep is called as
(A) Philatelist

(B) Somnambulist

(C) Somniloquist

(D) Oneirocntic

Choose the correct alternative which can
be substituted for the below underlined
phrase.

She was reading from a list that contained
almost all the known idioms and phrases
of English.

(A) Magazine

(B) Gazette

(C) Dictionary

(D) Glossary

listening is also called as critical
listening.
(A) Therapeutic
(B) Discriminative
(C) Empathetic
(D) Evaluative

The document that is used to communicate
within the organization is called

(A) Letter
(8) Memo
(C) E-mail
(D) Telex

{PTO.
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25.

26.
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22.

23.

You received an SMS congratulating you
that you have won a lottery. It further asks
to share your contact information. What
will you do ?

(A)

Share the information and wait for
reply

Delete the message and report the
incident

Will reply to ask for details

Will plan for investing the prize money

You are at Airport waiting lounge and

observe an unattended baggage for long

time, what will you do ?

(A)
(B)
(C)

(D)

Open the bag and check for the owner

lgnore the baggage

Inform the Security Incharge about

baggage without touching it

Take the baggage to Security Incharge

for further action

You have come to a crowded fair and you
see one missing child looking for parents

and crying, what will you do ?

(A)
(B)

(C)

(D)

lgnore the child

Look around for parents and gather
crowd

Take the child to the nearest police
station

Take the child to own house due to

safety concerns

S/F/P/11/2020/ 11-D

24,

25.

26.

You received an e-mail from your friend
requesting you urgently transfer some
money due to an emergent situation. What
will you do ?

(A)

(B)

(C)

(D)

Send money on priority to help him out

Try to contact the friend to confirm the
situation

Ignore and delete the message

Send money to his relatives you know

You are a Director of a school and invited as
a chief guest for an annual function of the
school. On the way to attend the function,
you got stuck in heavy traffic. What will you
do?

(A)

Will not worry as you are a Director and

- people can wait until your arrival

(B)
(C)

(D)

Call the organizers and update about
your situation requesting not to wait

Call the organizers and request them
to wait until your arrival

Call the organizers and tell them to
cancel and reschedule the event

Which will be the next numberin the series
given below ?

2,1,(2/3),(1/2),?

(A)
(B)
(€)
(D)

1/3
1/4
3/4
2/5

[ PT.O.



T R S ==

27. 29T TR v e A R @e= A, B, €,
D, € 3t £ 3, Frmd #m o s A weeTd
FETEEd paFiFA2 e, ch T
2evE waEfm a2 s pTE EE © |
o e T L
(A) ¢ rEiTRR
() c,oF TR
() p¥EATEAR
(D) FEHiTa T2

T FE B, TR YR H TS LE YR
% 7% 79 TS W A F AN 1957, TR
T s d e § g AR een 3 7
(A) 3,4

(B) 5,6

(C) 7,8

(D} 9,10

20, wF W 3 wE wheen ¥ F, CPEA A H
of £ 3= &0t /= /Ao R Al
TAEIE EEAe Y

g sraed] § ST SIS -4
%7

BA_BA_BAC_ACB_CBAC

(A) AACB

(B) BBCA

(C) CCBA

(D) CBAC
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27. A family of two generations consisting of
six members A, B, C, D, E and F has three
males and three females. There are only
two married couples and two unmarried
siblings. F is A's daughter and B is C’s
mother-in-law. E is an unmarried male and
D is a male. Which one of the following is
correct ?

(A) Cis F's husband
(B) Cis D’s wife
(C) Disunmarried
(D) Noneis true

28. One page is torn from a book whose
pages are numbered in the usual manner
starting from the first page as 1. The sum
of the numbers on the remaining pages is

195. The torn page contains which of the
following numbers ?
| (A) 3,4

29. A man said to a lady, “your mother’s
\ husband’s sister is my Aunt”. How is lady
- related to the man ?

(A) Sister

(B) Daughter

(C) Mother

(D) Granddaughter

30. Which of the following alphabets are
missing in the arrangement given below ?
BA_BA_BAC_ACB_CBAC

,‘ (A) AACB

S/F/P/11/2020/ 1-D

Directions (Questions 31 — 35) Read the following
excerpt and answer the questions asked at the end.
The answers to the questions should be based on
the excerpt.

Photographic evidence suggests that liquid water
once existed in great quantity on the surface of
Mars. Two types of flow features are seen: runoff
channels and outflow channels. Runoff channels
are found in the southern highlands. These flow
features are extensive systems — sometimes
hundreds of kilometers in total length — of
interconnecting, twisting channels that seem to
merge into larger, wider channels. They bear a
strong resemblance to river systems on Earth and
geologists think that they are dried-up beds of
long-gone rivers that once carried rainfall on Mars
from the mountains down into the valleys. Runoff
channels on Mars speak of a time 4 billion years
ago (the age of the Martian highlands), when the
atmosphere was thicker, the surface warmer and
liquid water widespread.

Outflow channels are probably relics of catastrophic
flooding on Mars long ago. They appear only in
equatorial regions and generally do not form
extensive interconnected networks. Instead, they
are probably the paths taken by huge volumes
of water draining from the southern highlands
into the northern plains. The onrushing water
arising from these flash floods likely also formed
the odd teardrop-shaped “islands” (resembling
the miniature versions seen in the wet sand of
our beaches at low tide) that have been found
on the plains close to the ends of the outflow
channels. Judging from the width and depth of
the channels, the flow rates must have been truly
enormous—perhaps as much as a hundred times
greater than the 105 tons per second carried by the
great Amazon River. Flooding shaped the outflow
channels approximately 3 billion years ago, about
the same time as the northern volcanic plains
formed.

31. In which of the regions are flow features
seen on Mars ?

(A) Western plains
(B) Northern highlands
(C) Southern plains
(D) Southern highlands

11 [ PT.O.
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32.

34.

What does the discussion in paragraph of
runoff channels in the southern highlands
suggest about Mars ?

(A) The atmosphere of Mars was once
thinner than it is today

(B) Large amounts of rain once fell on parts
of Mars

(C) The river systems of Mars were once
more extensive than Earth’s

(D) The rivers of Mars began to dry up

about 5 billion years ago

The amount of water flowing down the
outflow channels on Mars is estimated to
be closest to

(A)
(B)
(€
(D)

105 tons per second
105 tons

10500 tons per second
10500 tons

According to paragraph, all of the following
are true of the outflow channels on Mars
except

(A) They formed at around the same time
that volcanic activity was occurring on
the northern plains

(B)

They are found only on certain parts of
the Martian surface

(C) They sometimes empty onto what
appear to have once been the wet

sands of tidal beaches

(D) They are thought to have carried
water northward from the equatorial

regions

S/F/P/11/2020/ 11-D
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35.

36.

37.

In paragraph, why does the Author include
the information that 105 tons of water flow

through the Amazon River per second ?

(A) To emphasize the great size of the
volume of water that seems to
have flowed through Mars’ outflow
channels

(B) To indicate data used by scientists to
estimate how long ago Mars’ outflow

channels were formed

(C) Toargue that flash floods on Mars may

have been powerful enough to cause
tear-shaped “islands” to form

(D)

To argue that the force of flood waters
on Mars was powerful enough to shape
the northern volcanic plains

Two persons starting from the same place
walk at a rate of 6.25 kmph and 7.75 kmph,
respectively. What time will they take to
be 19.5 km apart, if they walk in the same
direction ?

(A) 17 hrs
(B) 22hrs
(C) 13 hrs
(D) 12hrs

If9 men completed 1/3 of a work in 8 days
working 8 hrs per day, how many more men
should be engaged to finish the rest of the

work in 4 days working one extra hour a
day ?

(A) 23
(B) 32
(C) 36
(D) 46

[PT.0.
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38.

39.

40.

41,

Which of the following indicates similar
relationship as BRANCH has with DTCLAF?

PCQAWG : RESCUE
NATION : CYRGMK
DPGGPF : FRIEND

NORMAL : ALTFCD

Statements :
(a) All medicines are sweet.

(b) All sweets are good for health.
Conclusions :

(i) Some sweets are medicine.

(i) No sweet is a medicine.
(iii) Some healthy sweets are medicine.
(iv) All healthy sweets are medicine.

Which of the above conclusions is correct for
given statements ?

(A) Only (i) follows
(B) Either (i) or (ii) follows
(C). Only (i) and (iii) follows

(D) None of the above follows

Q1F, S2E, U6D, W21C, ?
(A) z888
(B) Y668
(C) Ya4B
(D) v8sB

If you see a manhole in a residential locality
during the rainy season and kids are playing
around, what will you do ?

(A) Inform Secretary of residential society
immediately

(B)
(€)

(D)

Warn the kids not to play

Ignore it and just walk away

Inform the Security of the building

S/F/P/11/2020/ 11-D
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42.

43,

You come to know that your neighbour is
COVID-19 positive, what will you do ?

(A)
(B)

Cheer up your neighbour

Prescribe medicines based on your
experience

Ask him to report the matter to and take
advice from appropriate authorities

(€)

(D) Ask him not to tell to anyone and stay

home quarantine

You are writing an examination and you
notice that your best friend is cheating
during the exam and the invigilator has not
noticed it. As a responsible citizen, what will
you do ?

(A) After the exam you will advise your

friend not to cheat because if he gets
caught then his future will be spoiled

(B)
(€)
(D)

Will ask him to pass that chit to you
Will ignore as he is your best friend

Complain about him to the invigilator

Because of continuous rains in your city there
is a problem of water logging, unhygienic
conditions and more than 1000 cases of
Dengue and Malaria are reported. As a
Corporator to which of the following things
you will give importance ?

(A) Arrange for medical support and food
to needy people

Announce financial help to people who
have suffered

Relocate all citizens to safer place
Not do anything as it occurs every
year

(B)

(€
(D)

[PT.0O.
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47.

. TR A oy v e Ere # i fe

TR §, 31

(A) 3Tq Frafig nfafafrl A g HE e
ERY

(B) afR a2 Bl & T
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(©) @iﬁa?lﬁ@mqﬁw%a%qu

(D) Wfereer srgr et Fa wi

of T n T dEe w1 SR
e 100 2, T n T ENT 7

(A) 196

(B) 197

(C) 198

(D) 199

e Fffra sraf & ol o e et
freTER } | af shaa srgufels 15,52, A
g o SRy e ?

iy gwar | 0-5 | 5-10 | 10 -15 | 15-20} 20-25
@ﬁgﬁ 15 | 16 x 8 v

it S eE | 25-30 | 30-35 | 35 -40 W\

witdE |y | s | s ”J

G

(A) x=4,y=3

(B) x=7,y=7

(C) x=3,y=4

(D) x=7,y=6
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48,

49,

50.

51.
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45. Recently you attended a wedding function
and returned home, what will you do ?

(A) Resume your routine activities
immediately

(B) Undergo quarantine at home for at
least a week if asymptotic

(C) Immediately visit the hospital for
COVID-19 testing

(D) Take immunity boosting medicines

46. |If the arithmetic mean of first n natural
numbers is 100, then n is

(A) 196
(B) 197
(C) 198
(D) 199

47. The absentee record of students in a given
term is as follows. |f the mean absentee
for the term is 15.5, find the frequencies
X and 'y’

Numberof |0-5|5-10 |10 -15 15-20| 20-25
Days

Total
Number 15 16 X 8 Y
of Students

30-35| 35 —40 | Total

6 4 70

(A) x=4,y=3
B) x=7,y=7
(C) x=3,y=4
(D) x=7,y=6

S/F/P/1/2020/ I-D 17

48.

49.

50.

51.

Find the missing number.

3 5 2 y 3 9
102 105 ?
2 g8 4 6 3 6
(A) 105
(B) 151
(C) 210
(D) 117

Some letters are given which are numbered
1,2, 3,4,5and 6. Find the combination of
numbers so that the letters are arranged
accordingly to form a meaningful English
word.

1 2 3 4 5 6

ol N|W/|[RJ|E]|D
(A) 321456
(B) 231456
(C) 312654
(D) 314265

If ‘City’ is called ‘Village', ‘Village' is called
‘Forest’ and ‘Forest’ is called ‘Building’, then
where do deers live ?

(A) City

(B) Village
(C) Forest
(D) Building

Identify the disadvantage of oral

communication.

(A) Immediate feedback is possible

(B) Listener’s reaction is observed

(C) A considerable amount of money and
time is spent

(D) Speaking to friends become easy

[PT.O.
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52.

53.

54.

55.

A communication process includes the
following sequential steps.

(A) encoding, transmission and decoding
(B) transmission, encoding and decoding
(C) decoding, transmission and encoding

(D) decoding, encoding and transmission

is used by managers to assign
goals; provide job instructions; inform
about policies, procedures and practices ;
provide performance feedback; point out
problems.

(A) Downward communication
(B) Upward communication
(C) Horizontal communication

(D) Both (B) and (C)

The depth of interpersonal relationships
required by a job depends on

(A)
(B)

How complex the task is

Different kinds of expertise possessed
by the people involved

The degree of certainty with which job
outcomes can be predicted

All of the above

(C)

(D)

The metaphor “emotional bank account”

refers to
(A)
up in a relationship

(B) The amount of emotions one has
(C) An account with emotional bank
(D) None of the above

S/F/P/11/2020/ 1-D
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56.

57.

58.

59.

60.

- (B)

Find the correct answer for ‘How much are
these mangoes ?’

(A) One kilo of twenty five rupees.

(B) Twenty five rupeesa kilo.

(C) Onekiloin twenty five rupees.

(D) One kiloon twenty five rupees.

Choose the sentence with correct

punctuation. |
(A) What would you fike to have for Brezifast |

(B) What would you like to have for Brearizst
(@) Whatmuldyouﬁketohaveforareaéﬂ?
(D) V\/hatwouldyouﬁke,toha«ebrareai@a?

Fill in the blank with correct articie pair.

My uncle visited Andaman and

Nicobar Islands and Kerala.

(A) the/the

the/ article not needed

(C) an/a

(D) article not needed/article not needed

Fill in the blank with correct option.
A snake on the ground.

(A)
(B)
(€)
(D)

walks
slide
slithers

move

Fill in the blank with correct option.

Arun became after the robbery.
(A) death broke
(B8) deadly broken
(C) break dead
(D) dead broke
[PTO.
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pirections (Question No. 61 = 70) : In each of the
questions below is given a statement and followed
by two arguments numbered | and Il. Consider
the arguments and decide which option is correct
answer.

61. Some desks are caps. No cap is blue.
Assumption | : Some caps are desks.
Assumption Il : No desk is blue.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

62. “Use Craft colours. They add colour to our
life”, said an advertisement.

Assumption| : Catchy slogans do not
attract people.

Assumption Il : People like dark colours.
(A) Assumption | follows

(B) Assumption Il follows

(C) Assumption | and I follows

(D) Neither assumption | nor Il follows

63. Anger is an emotion; it needs special skills
as to control it.
Assumption | : Anger need to be
controlled.
Assumption Il : Only skillful people can
control it.

(A) Assumption | is implicit
(B) Assumption Il is implicit
(C) Assumption | and Il are implicit

(D) Neither assumption | nor Ilis implicit
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64.

65.

66.

A new medicine ‘ALPHA’ is causing
excitement in the medical field.

Assumption | : No other drug is causing
excitement in the medical field.

Assumption Il : Medicine ALPHA is a very
effective drug.

(A) Assumption | is implicit
(B) Assumption Il is implicit
(C) Assumption | and Il are implicit

(D) Neither assumption | nor |l is implicit

The old order changed, yielding place to
new.

Assumption | : Change is the law of
nature.

Assumption Il : Discard old ideas because
they are old.

(A) Assumption | follows

(8) Assumption Il follows

(C) Assumption | and Il follows

(D) Neither assumption I nor |l follows

‘swachchh Bharat Mission’ is an important
initiative of the Govt. of India.

Assumption | : Aims to provide universal
sanitation coverage and access to safe
sanitisation in India.

Assumption Il : Aims to promote and
provide clean toilet to each and every
household in India.

(A) Assumption | is strong
(B) Assumption Il is strong
(C) Assumption | and |l are strong

(D) Neither assumption I nor i is strong

[PT.O.
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67.

69.

WiFi/internet usage has sharply increased
in recent times.

Assumption | : Internet data has become
cheaper.

Assumption Il : During lockdown time,
people were afraid to go out.

(A) Assumption | is strong

(B) Assumption Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

Conservation of natural resources is very
important today.

Assumption | : Natural resources are
abundant and consumption need not be
optimized.

Assumption Il : Future generations will
depend upon the availability of the natural
resources.

(A) Assumption | is strong

(B) Assumption |l is strong

(C) Assumption | and il are strong

(D) Neither assumption | nor Il is strong

All mangoes are golden in colour. No
golden-coloured things are cheap.

Assumption | : All mangoes are cheap.

Assumption Il : Golden-coloured mangoes
are not cheap.

(A) Assumption | is strong
(B) Assumption Il is strong
(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

S/F/P/11/2020/ 1I-D
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70.

71.

72.

Some robbers are fools. Some fools are
rich.

Assumption | : Some robbers are rich.
Assumption Il : Some rich are robbers.
(A) Assumption | is strong

(B) Assumptfion Il is strong

(C) Assumption | and Il are strong

(D) Neither assumption | nor Il is strong

Which alphabet letter should replace the
question mark ?

N T| (F H] |G M

P R| {J L| 2 |

(A) O
(B) K
(C) H
(D) E

A group of parrots are present in a small
forest along with a group of deer. If there
are total 12 heads and 40 legs, how many
deer and parrots are there in the forest
respectively ?

(A) ‘4,8

(B) 6,6

(€) 3,9

(D) 8,4

The value of the following expression is

5142
9-8x > 17 ?
p P

g1

6
(A) 1
(B) 4
(C) 5
(D) 8

[PT.O.
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75.

76.
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(C) 8/11

(D) 10/13
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74. The difference between the denominator
and the numerator of a fraction is 3. If the
denominator as well as the numerator is

increased by 4, then fraction becomes g
Find the original fraction.

(A) 7/10

(B) 5/8

(C) 8/11

(D) 10/13

75. Using the information in the figure and
PQ = PS, find out the value of f3 in degrees.

P

2a

(A) 25
(B) 30
(C) 45
(D) 60

76. If the 02/04/2021 is Friday, then which of
the following would be the 22" day of the

next month ?
(A) Friday

(B) Saturday
(C) Sunday
(D) Monday
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77.

79.

If P and Q interchange their positions and
S and R interchange their positions. Then
S and Q move diagonally and meet at the

centre. Pisin of S.
S R

P Q
(A) South-East
(B) South-West
(C) North-East
(D) North-West

Which of the following does not have a line
of symmetry ?

Which of the following options is correct ?
(A) Mihika bought dozen eggs.

(B) Mihika bought the dozen eggs.

(C) Mihika bought a dozen eggs.

(D) Mihika bought an dozen eggs.

Which of the following options is correct ?
(A) Every man knows his duty.
(B) Each man knows his duty.
(C) Many man knows his duty.
(D) Any man knows his duty.
[PTO.
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e

REwr (w7 6. 81 9 85) : fow o Y & SR
Freafafad v & 3w A |

T - 1

f e srfard wch @ fren Wit ) 3=t @

T T Aek-wsiial ¥ o 30 gas s @, @
TR T 3R FAS QA A e -l e
R w1 TR | TF, TR weran v
=t 9 arel FiE & g oft 3R EEes SR
W T 2, A T 1 e T T R
i = e F© Yo wm FQ A, e
TTe¥es If ) 31 36 tE TRa qu i T
1 | e areim Y stfrEr s & wEn fo
nawa t | Rl @ e qeln & au-wy
Sreifire et sft frerh =i, @ savEd %
o - 3R ToTF 39 9T 1 Hew AT
e R s T - TAR Aw # qt Sfnfies el
£ FATaTEHaT e Fi wreEer T & i R
Sfe e el ) wehan & 9 ean freneff sm i
ST T TG 3R Y- & g B |
srafaree &1 Fred T &1 fas o8 |

g1, fora wry ofeifies arefin oft & s =nfew ?
- (a) wfaErd e & wy
(B) wrA e & WY
() aifefde awefin &
(D) el e & @

s/F/P/11/2020/ I-D 26

82, siveilfirs avefin ) ST SR R
o 8 7
(A) Tl wifed
(B) FET! - e F e
(c) fzreek fonen =1 fareprd

(D) foreat =1 TER

g3, faemfeldl & foru R srgwa T HE
HEAFF T ¢
(A) o9 I TRE
(B) meh fnem it stfrarden
(C) Tfefce arcim
(D) GmmTferER wfaest

84. IR TENTY 1 Taiieren 3fa N 2
(A) oAfar R
(B) Toremeff ok frem
(C) wraert fren
(D) Ten 1 U

85. Gk foru e gerw w1 B Tt sfreFias
Y ST B

(A) wfafea
(B) Afyamt

(€) frye=
(D) e

A e

|

|




%
fAdwr (Y9 6. 86 @ 90) : U MU MRV F MER W
frfeias vl & 3w difdm |

TS - 2

REIGe ok 3 Y @ Fraffira v fare) @ o mtsren
1 Wi o wferd T s o2 § R mn R |
T A 9 B - qEn ol ST | Qe e T
1 AT T3 2 A IO 31 Wt o A w6 |
A9 T aTer ® T & s v e & foe fatfa
Tg3 TToTRn @ X W e et o 7 e
TR | 3772 AT S T SATTG AT § 77 3 3ued
Y ! IR I A ST gUF I3 ] N HWIER
T8 W = H FHE AFC T TG H 8 g TR
T & qrg S5 R | 97 AR @ st uge
T AT FATA T I W I WY YA & | FA
Ted fogd A foreht fore farg St <6 i o 1
T T GYETES SR W9 st Feu v difee
H g IR gEATe § | SreHifh T # ST
FTfeeRT & a1 g STuEd A 3 I EAH WS
3R wRE # £ % g SRl % 889 H I v
TN 97 % Uy o1a & Wi i HEAT e
Ha7d @ wiferere & U 2 fohrg foref} oteiam ag
Y I STE W g STt SIS Hid Gen]e Hlferard shi
f1:5¢7 Ty wiferes shea 2 |

86. 3& %! MY ferer foam ¢
(A) TR 3
(B) Tg 3
(C) fodiaw
(D) FIA
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87. wen qrer H e % R F Fafera g ?

88.

89.

90.

(A) HIfeTET®
(B) &H
(C) e

(D) au

Hifererd i Hifersh Fea 7T R 7
(A) TIH I T ST SSHAT

(B) T I qq ST SISHIT

(C) 3T TEG I T SR WS
(D) W & k1 e e

T % R S § 7
(A) o€ =™
(B) aTcHifh
(C) g
(D) wﬁrc{m

0 Tepfa o AR w9 fped B 7
(A) e &

(B) ITHd H

(C) TEHH R ITET g §

(D) eI ¥ & foreft ® oft 7
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PYSN (T E. 011 95) ¢ Ry Y T & IR T
e T & s di |

”ui\:l "3

S T W T @ e R w e e A
<o By | ST SIS TR-gH sl ¥R
3 TEd TORT ¥ 8w a9 R | St 3
TR ¥ O TR Y 9 W AR P W
&5 T TRRE Y agd a1 A fawd | e, |
e ST ) T T S S T e
W%ﬁMWW%WWWw
3 <9 a0 R A R | e e e el
ﬁwmmw&mm'%@ﬁw
g TEE & for e A U | A et ® R
wrsTiE ¥ fafiy wat &1 3T 3@ g @ S T
R T AT i R Ed © | ',
Yo, Ko 3 7 T w9 @ an feufat &
a3 ova i ffim gu §, of S vedt Heha
Sy T, STfe N R S IR T 3
ErigTEa & 0 Al & 9 wgfaa & w1
e © |

91, ITETCHITE TE-gul Y T Fe Ue forE
I AR ?

(A) T
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92

93.

94.

95.

mmm%mﬁmﬁwm%?
(A) Sfat @

(B) TeHRAT A

() sfemd

(D) ST T - A

angﬁaﬁ?aﬁﬁéanéma‘mﬁ%w
qras o 3T 3@ Bl @ 7

(A) HEHT T H

(B) STEHERYT i T

(C) W1 3% i shred w1 3

(D) T o farfeqer wi 1 3T

e TATETE TN % YLURLd Sh1sq ® W F#41
gftafora i 2 7

(A) SUTE

(B) ARH

(C) $TR

(D) wfaan

(A) BT 3R strenasan 1
(B) WU #T=x w1

(C) i 3ir sremsen

(D) TR & fafaw =9t o



AW (Y9 E. 96 @ 100) : Rumo eyt % s 97, st uRgya 3 e ¥ whomrersy wn
freferiea wel & 3w it | gy ?
: (A) =T g
SR (B) &ha s
geall & = sl & e e @ S e Al () susiimr Y g # f
R ) ik R s | g o Rl (D) TSI
T Qeafl 1 HAH o e &9 W oRafda @ R
R ol 3 o o wen S o, adwm A awi N 98, Wy % anfie faehre % w1 Y WIHRUS
e e = o 2 T wed T @ FR Y
1 i Pt oRew fefia & w2, el @ (A) Y shrd
A& Jeq FEE! § vefd garl armves § sie (B) GETEH! T TYTGROT q1 IAHNT Y &Il
TR | HRa i e frarati & wga wehsor qen (C) seqr I T
T T b e Fafire e s o (D) wrR TR
YT TUITCHE: T WY I9TTd g1 B | §6 Wb Wald o
T s g wiEfdd g @ e e w1 wgE R 99, anfier foranait % whomTeEY N g ?
FETEE] & TG T JUHT i} &1 36 T (A) HHE
TeTa & T 1 S WIIEUE § | oT: AN wawn # (B) o1ed =
FEYAT & TR F 39 39T I &mar @ oY anur (C) ufEds
T SR | (D) q«mﬁw
96. U o A fohweRt ¥ uwwr R forn ? 100. Sfifaa T & forg wFa FFEA R ?
(A) ez & ST I (A) T framd
(B) TSTITEATE! 1 (B) T
(€ WW (C) waTeAt &1 farewon
(D) e = ©) v
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